
Time: 10 Minutes Paper Math 6 (T-1) Total Marks: 10

1st Month, 3rd Week, 2nd  Day Unit # 1: Factors and Multiples

Q.1. Choose the correct options.   (0.5x 6 = 3)   ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) A number which divides the dividend completely is called:

ZZZZqqqq----°°°°ŠŠŠŠ����„„„„àààà{{{{ÃÃÃÃååååîîîîgggg6666,,,,„„„„™™™™}}}}ÔÔÔÔBBBB@@@@****ìììì::::
(a) Factors ¬Š (b) Multiples ZDs (c) LCM fzZDsZ÷ (d) HCF ¬ŠZW
(ii) A composite number can always be expressed a____of two primes.

ZZZZqqqq----%%%%““““°°°°ŠŠŠŠÃÃÃÃååååŠŠŠŠzzzzGGGGŠŠŠŠ''''''''ÆÆÆÆîîîîgggg6666,,,,ªªªªCCCCÙÙÙÙHHHHYYYYYYYYììììXXXX
(a) Product qÝ¢[ (b) Difference �Ût (c) Sum ù· (d) None Ãð7
(iii) A number neither prime or composite is:

ZZZZqqqq----°°°°ŠŠŠŠ::::„„„„GGGGŠŠŠŠììììZZZZzzzzgggg::::„„„„%%%%““““ìììì::::
(a) 1 (b) 2 (c) 3 (d) 4

(iv)A number which divides all the given numbers is called:

zzzz{{{{°°°°ŠŠŠŠ����ŠŠŠŠbbbb‰‰‰‰ÓÓÓÓxxxxZZZZ°°°°ZZZZŠŠŠŠÃÃÃÃ„„„„™™™™}}}}ÔÔÔÔBBBB@@@@****ìììì::::
(a) HCF ¬ŠZW (b) LCM fzZDsZ÷ (c) Prime GŠ (d) Composite %“
(v) In 54: ~~~~:::: 54

(a) 4 is base and 5 is power

¤‰Üì 5 Z‚kZzg 4

(b) 5 and 4 are bases

Z‚k÷ 4 Zzg 5
(c) 4 and 5 are powers

¤Ð÷ 5 Zzg 4
(d) 5 is base and 4 is power

¤‰Üì 4 Z‚kZzg 5

(vi)Zero is multiple of every number except: ####CCCCÙÙÙÙ°°°°ŠŠŠŠ»»»»ZZZZDDDDssssììììÎÎÎÎZZZZññññ::::
(a) One Zq- (b) Two Šz (c) Five 0*õ (d) Itself ZLW\»
Q.2. Wirte short answer of the following questions. (3×2=6)

ŠŠŠŠgggg`̀̀̀ffffssss¿¿¿¿ÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[KKKKXXXX
(i) Define factors and give an example. ¬ŠÅ°p™,ZzgZq-VwŠ,X
(ii) What are the difference between prime numbers and composite

numbers? GŠZ°ZŠZzg%“Z°ZŠÆŠgxy�ÛtHì?
(iii) Define LCM. fzZDsZ÷Å°p™,X
Q.3.What do you know about index notation? (1×1=1)

WWWW\\\\̧̧̧̧]]]]úúúúððððÆÆÆÆ!!!!****gggg}}}}~~~~HHHHYYYY…………÷÷÷÷????
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